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QUESTION 1

Why is it necessary to have a consolidation location?

A. Consolidation locations are used to consolidate orders for a wave.

B. Packing using a Distribution transaction requires a consolidation location for each store.
C. Itis necessary if you want to consolidate while packing.

D. After you are finished picking your pick cart, you use a consolidation location to pack.

Correct Answer: D

QUESTION 2

While working on the configuration of your client, you uncover that the ASNs will always have the correct serial number
information interfaced upfront and your client trusts the ASN information. Your client also needs the serial number
information to get into WMS Cloud when the items are received from POs. Which three actions do you need to take,
assuming that item A is serial-tracked? (Choose three.)

A. Set item A\\'s require serial number parameter to "Required, validate and allow user override".

B. Create the IB Container barcode type.

C. Create the Serial Number barcode type.

D. Set the company parameter SERIAL_NUMBER_TRACKING_LEVEL TO 2.

E. Set item A\'s require serial number parameter to "Required, don\\'t Validate".

Correct Answer. ABD

QUESTION 3

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators.

Which two tasks should you complete? (Choose two.)

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank.

B. Create a Resv Nbr Cnt RF screen for the operators to use.

C. Enable the Recount Location Detail cc_trigger.

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty.
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E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan.

Correct Answer: BE

QUESTION 4

You are configuring the WMS Cloud to have multiple facilities and, as an added measure of control, you
want to easily identity the facility by looking at the barcode printed on the outbound carton.

Identify two valid configurations that are available in the Sequence Counter Ul that you can use for the
OBLPN. (Choose two.)

A. You can set up the count increment in Facility 1 to increase by 1, the count increment in Facility 2 to increment by 2,
and so on.

B. You can set up the sequence counter OBLPN to "Append Facility Code to Prefix".

C. You can specify different counts for the different facilitates within the Sequence Counter.

D. You can configure the sequence length for this facility to be different from the other facilities.
E. You can specify the "Color Code" in the Sequence Counter.

Correct Answer: BC

QUESTION 5

Your customer wants to use Advance Shipment Notification (ASN) created in WMS Cloud System for receiving without
RF gun and expects ASN to be verified. What are the two steps to complete the ASN receiving and verification
transaction? (Choose two.)

A. Create a Blind IB plate number and palletize after receiving

B. Create a Blind IB plate number and cartonize before receiving

C. Assign a dock door to IB shipment

D. Create an ASN from the IB license plate screen

E. Verify the IB shipment

Correct Answer: AC
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